Name:_________________________________

Test #2a – Chapter 1

Beginning Algebra

Fall 2008
Instructions:  Put your name on your paper before you begin.  You may not use a calculator on this test, and all work must be shown in order to get all points for all questions.  If you feel that you must use a piece of scratch paper, please tell me that you have used scratch paper each time that you use it and label your work clearly so that I may easily find it!  Please box your final answer and don't forget that word problems require labels for their answers.  Staple your note card to the back of your test. Good luck!

1.
From the following word problems choose one and showing setup, and an 
equation that you use, solve the problem.  Algebra must be used for full credit.

a)
If sales tax is 8%, what will be the total cost of a shirt that costs $24?

b)
The sum of three consecutive integers in 66.  Find the integers.

2.
From the following word problems choose one and showing setup, and an 
equation that you use, solve the problem.  Algebra must be used for full credit.

a)
Two angles are complementary if their sum is 90(.  Find the angles of two 

complementary angles if the second angle is twice the first.


b)
The length of a rectangle is 4 feet less than 3 times the width.  If the 

perimeter is 16 feet find the length.

3.
From the following word problems choose two, showing setup, and an equation 

that could be used to solve the problem.  Do not solve.  Algebra must be used for 
full credit.

a)
A lab has a 20% acid solution and a 50% acid solution.  How many liters 
of each are required to obtain 600 liters of a 30% acid solution?

b)
Julie invested $24,000 in two funds.  The first, a bond, paid 5% simple 
annual interest and the 2nd, a money market, paid 3% simple annual 
interest.  She earned a total of $1120 in interest in one year.  How much 
did she invest at each rate?

4.
Solve for y.





2x  +  5y  =  C


Your final answer needs to have 2 terms.
5.
Solve each of the following equations.  
a)
2(x  (  9)  =  3x  (  18  (  x

b)
7x  +  3  =   6(x  +  3)  +  x  +  3

c)
7x   =  6x



d)
7x  (  3(x  +  4)  =   8x  +  4
6.
Clear each problem of decimals or fractions.  You need not solve.  You should only 
need one step to clear, not 2!  If it took 2 passes, you might want to try it again.
a)
1/5(x  (  2/3)  +  ½  =  1/10 x  (  1/3
b)
0.2(0.1x  +  4)   (  3  =  0.15x  +  0.5

7.
Simplify completely.

a)
2/3(x  (  1/5)  +  ½



b)
6(x  (  4)  (  3(x  (  1)  +  9

8.
Translate the following into an equation.  Check to see that x = 25 is the solution.

Twice the sum of a number and 2 is equal to three times the difference of the 

number and 7.

9.
Simplify using order of operations.  Show all intermediate steps.  You must 

simplify both the numerator and denominator regardless of the final answer.

a)
         2/3 (-3  +  3)        



b)
  24 ÷ 6 ( 2  +  2  
 4  (  2  + ( 10   (  13)



      
        
     92  (  81







10.
Compare using the symbols <, > or =. (Showing work is necessary.  You must simplify to 

get to 2 numbers that you can compare.)
a)
- ( - 3)    
  - | - 3 |



b)
(-5)2
         - 52



c)
51/61

19/23




d)
-3/4

-1/2

e)
-507

-913




e)
0.5934

0.593
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